
HOT SHOTS - ROTATING

BASKETBALL / NETBALL TOWER

SCALE 1:30

GROUND

LEVEL

N20 CONCRETE FOOTING

SUITABLE FOR CLASS 'S' & 'M'

SITES ONLY AS PER AS2870

1
0

0
0

450

GROUND LEVEL

EXTENSION ARM

3
0

5
0

841

3
0

1
4

T
O

P
 
O

F
 
E

X
T

E
N

S
I
O

N
 
A

R
M

3
0

8
1

T
O

P
 
O

F
 
R

I
N

G

T
O

P
 
O

F
 
P

O
L

E

B12f BACKBOARD & FRAME

R21a BASKETBALL

RING & NET

4 X M10 X 75 MM BOLT,

WASHER & NUT

ROTATION

HANDLE

CATCH

PLATE

SPRING BOLT

LOCKED IN

PLACE WHEN

LOCATED IN

GROOVE OF

CATCH PLATE

NR11a NETBALL RING & NET

TOWER ROTATES 360° AROUND

MAIN POST

(TAKE CARE TO CONSIDER TOWER

POSITION WHEN INSTALLING)

MAIN POST

BASE POLE

MAIN POST

TOP POLE

TOP POLE SLOTS

INSIDE BASE POLE.

USE SPRING BOLT

TO LOCK TOWER IN

POSITION

USE HANDLE

TO ROTATE

TOP POLE

4 X M12 X 40 MM BOLT,

SPRING WASHER & NUT

2 X M10 X 25 MM BOLT,

WASHER & NUT

F

U

L

L

 

E

X

T

E

N

S

I

O

N

W

I

T

H

 

B

A

S

K

E

T

B

A

L

L

R

I

N

G

 

A

T

T

A

C

H

E

D

.

R

1

5

0

7

.

5

R

1

5

0

7

.

5

R

1

5

0

7

.

5

R

1

5

0

7

.

5

SPRING BOLT

TOP OF SLEEVE SITS

30 MM ABOVE

PLAYING SURFACE

GROUND SLEEVE

M12 X 25 MM BOLT

LOCKS POST IN SLEEVE

NOTE: SIT BACKBOARD & FRAME ON

BRACKET ON EXTENSION ARM THEN

BOLT TOGETHER WITH RING ASWELL

NYLON COLLAR

COLLAR

30

7
2

0

DRAWING NUMBER:

TITLE:

COMPONENTS

QTY ITEM

HOT SHOTS ASSEMBLY

ASSEMBLY INSTRUCTIONS

HOT SHOTS - ROTATING

BASKETBALL/NETBALL TOWER

-

Oz Ring Pty Ltd

Trading as:

Play Hard Sports Equipment

ABN 79 066 094 559

24 Ern Harley Drive

Burleigh Heads Qld 4220

Phone: (07) 5593 4494

Fax: (07) 5593 4338

Website: www.playhardsports.com.au

Email: email@playhardsports.com.au

1 MAIN POST BASE POLE

1 EXTENSION ARM

1 BACKBOARD AND FRAME

1 MAIN POST TOP POLE

1 R11b BASKETBALL RING & NET

4 M10 X 80 MM GAL HEX BOLT,

WASHER & NUT

4 M12 X 40 MM GAL HEX BOLT,

SPRING WASHER & NUT

1 GROUND SLEEVE

1 M12 X 25 MM BOLT

2 M10 X 25 MM GAL HEX BOLT

& NYLOC NUT

1 NRa NETBALL RING & NET

1 NYLON COLLAR

sports equipment


	Sheets and Views
	Assembly


